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1 [ x=0; 1 | x=0;
2 | y=0; 2 | y=0;
3 [tick=10; 3 | tick =5;
4 |temp=30; 4 |temp=0;
5 |1lim=101; 5 |1im=101;
¢ |figure; 6 |figure;
7 |hold on; 7 |hold on;
s |grid on; s |grid on;
o | while temp<lim 9 [while temp<lim
10 x=temp ; 10 x=0;
11 while x>—1 11 while x<temp+1
12 y=temp—x; 12 y=temp—x;
13 plot (x,y,”.7); 13 plot (x,y,’.7);
14 x=x—1; 14 x=x+1;
15 end 15 end
16 temp=temp+tick ; 16 temp=temp+tick ;
17 | end 17 | end
s | xlabel (7x7) 18 | xlabel (’x7)
19 [vlabel (7y7) 19 [vlabel (7y7)
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ag =1,
ay = 2,
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Solution.

vk > 3,

(a) fRi%&n € ZT, Hn mod 4 =2or 3, Hni—MFHE, Bin=m2meZ"

AT, Bim = 2k+1n € ZTHE, n= (2k+1)* = 4k®>+4k+1, Wn mod 4 = 1.

Y BT, Blm = 2kn € ZTH, n = (2k)? = 4k%, Mln mod 4 = 0.
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